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uksV & iz'u i= rhu [k.Mksa esa foHkDr gS A lHkh rhu [k.Mksa ds iz'u funsZ'kkuqlkj gy

dhft;s A vadksa dk foHkktu izR;sd [k.M esa fn;k x;k gS A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.
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[k.M & ^v*  Section - 'A'

vfry?kqRrjh; iz'u ¼vYi 'kCnksa esa½

Very short answer question (in few words)

iz-1 fuEukafdr iz'uksa esa ls fdUgha N% iz'uksa dks gy dhft;s & 6x2=12

Attempt any six question from the following questions :

(i) lkekU; vkdkj fooj.k D;k gS \

What is common size statement ?

(ii) fo'ys"k.k o fuoZpu esa varj Li"V dhft;sA

Distinguish between analysis and interpretion.

(iii) izR;{k ifjO;;u D;k gS \

What is direct costing ?

(iv) le&foPNsn pkVZ ls vki D;k le>rs gSa \

What do you understand by B.E.P. Chart ?
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(v) vo'kks"k.k ykxr fof/k dk D;k vfHkizk; gS \

What is the concept of Absorption Coding Method ?

(vi) ykHk&ek=k dk mn~ns'; D;k gS \

What is object of P/V Ratio ?

(vii) fu.kZ;u dh ØhM+k fl)kar D;k gS \

What is game theory of decision making ?

(viii) izca/k vads{k.k ls D;k vk'k; gS \

What do you mean by Management Audit ?

(ix) fØ;kRed ykxr fu/kkZj.k dh vo/kkj.kk D;k gS \

What is the concept of Activity Based costing ?

(x) Lrjh; izfrosnu D;k gS \

What is level report ?

[k.M & ^c*  Section - 'B'

y?kqRrjh; iz'u ¼200 'kCnksa esa½

Short answer question (In 200 words)

iz-2 fuEukafdr iz'uksa esa ls fdUgha pkj iz'uksa dks gy dhft;s A 4x5=20

Attempt any four question from the following questions :

(i) foRrh; fooj.kksa ds fo'ys"k.k dh rduhdksa dks crkb;sA

Explain the various techniques of analysis of Financial statement.

(ii) fofu;ksftr iwath ij izR;k; dh x.kuk dk D;k egRo gS \

What is the importance of the calculation of return on capital employed ?

(iii) ^^,d mRikn ;k foHkkx dks can fd;k tk; ;k ughaA** lhekar fo'ys"k.k }kjk dSls

bu leL;kvksa dks gy fd;k tk ldrk gS \
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"Dropping a product or department or not" how can marginal analysis helps

in solving these problems.

(iv) fn;k gqvk gS (Given)  &

pkyw vuqikr (Current Ratio) = 5.6

rjyrk vuqikr (Acid-Test Ratio) = 3.0

dk;Z'khy iwath (Working capital) = Rs 3,24,000

Kkr dhft;s (Find out) &

1- pkyw laifRr;ka (current Assets)

2- pkyw nkf;Ro (current Liabilities)

3- rjy laifRr;ka (Liquid Assets)

(v) fcykliqj fy- ls 1000 Vsfcy QSu dh iwfrZ dh iwNrkN dh x;h gS A daiuh ds ikl

Vsfcy QSu dh bu la[;kvksa dks mRikfnr djus dh {kerk gS fdUrq bl tkWc dks

Lohdkj djus ls :- 50]000 ds LFkk;h fofu;ksx vkSj foØ; ewY; dk 20%

dk;Z'khy iwath dh vko';drk iM+sxh A vuqekfur ykxrsa bl izdkj gksxh &

Inquiry has been made for supply of 1000 table fans from Bilaspur Limited.

The company has the capability to produce these entities of table fan but

accepting this job will require a permanent investment of Rs. 50,000 and

working capital at 20% of the selling price. Estimated cost will be as follows:

lkexzh (Material) 2,40,000

etnwjh (Wages) 60,000

ifjorZu'khy mifjO;; (Variable overheads) 40,000

ifjorZu'khy foØ; mifjO;; (Variable selling overheads) 20,000

LFkk;h O;; (Fixed Exp.) 60,000

ykHk ek=k vuqikr 40% ekurs gq, lhekar ykxr fof/k ds varxZr foØ; ewY; dk

fu/kkZj.k dhft;sA

Asuming P.V. Ratio to be 40% Determine the sale price of this job under

Marginal costing system.
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(vi) fuEukafdr lwpuk,a jk;iqj lkbfdy fy- ls lacaf/kr gS %&

Following informations are related to Raipur Cycle Ltd. :

Per cycle (Rs)

lkexzh (Material) 360

Je (Labour) 120

ifjorZu'khy mifjO;; (Variable overheads) 120

600

LFkkbZ mifjO;; (Fixd overheads) 300

ykHk (Profit) 300

foØ; ewY; (Selling Price) 1200

mi;qZDr lwpuk,a 3]00]000 lkbfdy izfr o"kZ fuekZ.k ij vk/kkfjr gS A daiuh vk'kk

djrh gS fd izfrLi'kZ ds dkj.k foØ; ewY; esa deh djuh gksxh fdUrq og ykHk dh

ek=k iwoZor cuk;s j[kuk pkgrh gS A ykHk dks iwoZoRr cuk;s j[kus ds fy,

lkbfdyksa dks fdruh la[;k dk fuekZ.k djuk iM+sxk ;fn foØ; ewY; 25% ls de

fd;k tkrk gS A

Above information are based in the manufactured of 3,00,000 cycles p.a.

Thecompany expect that due to competition that will have to reduce selling

price, but they want to keep the profit infact. How many's cycles will have to

be manufactured to get the amount of profit if the selling price is reduced

by 25% .

(vii) ,d dkj[kkuk 5]00]000 bdkbZ;ka izfro"kZ dh {kerk ij LFkkfir fd;k x;k gSA

70% {kerk ij O;; fuEufyf[kr gS %&

A factory was installed at the capacity of 5,00,000 units p.a. Following are

the expenses at 70% of its capacity :

Rs.

lkexzh (Materials) 5,25,000

etnwjh (Wages) 7,00,000



ifjorZu'khy mifjO;; (Variable Overheads) 1,35,000

fLFkj mifjO;; (Fixed Overheads) 1,00,000

orZeku esa mRiknu 4]00]000 bdkbZ;ksa ij izLrkfor fd;k x;k gSA Kkr dhft;s &

Production is none proposed at 4,00,000 units. Find out :

1- lhekar ykxr (Marginal cost)

2- vUrj ykxr (Differential cost)

3- vUrj ykxr izfr bdkbZ (Differential cost per unit)

[k.M & ^l*  Section - 'C'

nh?kZ mRrjh; iz'u ¼fuca/kkRed½

Long answer/Essay type question.

iz-3 fuEukafdr iz'uksa esa ls fdUgha pkj iz'uksa dks gy dhft;s A 4x12 = 48

Attempt any four question from the following questions :

(i) fuEukafdr vk; fooj.k dks leku vkdkj ds vk; fooj.k esa ifjofrZr djsa vkSj

2021 dh ifjfLFkfr;ksa ds lanHkZ esa 2022 esa gq, ifjorZuksa dh O;k[;k djsa %&

Convert the following income statement into common size income statement

and explain the changes in 2021 in the light of the conditions prevailing in

2022.

                          Year

2021 (Rs.) 2022 (Rs.)

ldy foØ; (Gross sales) 30,600 36,720

?kVkvks (Less) : okilh ,oa cV~Vk (Return and Discounts) 600 700

30,000 36,020

?kVkvks (Less) : foØ; ykxr (Cost of sales) 18,200 20,250

foØ; ij ldy ykHk (Gross profit on sales) (a) 11,800 15,770
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lapkyu O;; (Operating Expenses) :

foØ; O;; (Selling exp.) 6,000 6,600

iz'kklfud O;; (Administrative Exp.) 3,000 34,000

dqy lapkyu O;; (Total Operating Exp.) (b) 9,000 10,000

lapkyu ykHk (Operating profit) (a-b) 2,800 5,770

tksM+ks % vU; vk; (Other Income) 300 400

dqy vk; (Total Income) 3,100 6,170

?kVkvks % vU; O;; (Other Exp.) (200) (300)

'kq) ykHk (Net Profit) 2,900 5,870

(ii) lw;kZ VsªfMax fy- dh foRrh; ;kstuk ds iz{ksihdj.k es fuEu ys[kk vuqikrksa dk

vuqikr gksrk gS %&

In perfecting the financial plan of Surya Trading Ltd, the use of the following

ratio are made :

vuqekfur okf"kZd foØ; (Estimated Annual sales) 10,00,000

'kq) ewY; dk foØ; (Sales to Net worth) 2.5 times

'kq) ewY; dk pkyw _.k (current Debts to Net worth) 25%

'kq) ewY; dk dqy _.k (Total debt to Net worth) 60%

pkyw vuqikr (Current Ratio) 3.6 times

lkexzh dk 'kq) foØ; (Net sales to Inventory) 4 times

vkSlr olwyh ykxr o"kZ esa 360 fnu ekurs gq, 36 day

(Average collection period taken as 360 days in a year)

'kq) ewY; ij fLFkj laifRr (Fixed Assets to Net worth) 70%

mi;qZDr lwpukvksa ds vk/kkj ij daiuh dk iz{ksih fpV~Bk rS;kj djsaA

On the basis o above inormations, prepare a proforma Balance Sheet o the company.

(iii) mTtoyk fyfeVsM ds 31 ekpZ 2021 ,oa 2022 ds laf{kIr fpV~Bs fuEu izdkj gS %&

The Balance sheets of Ujjwala Ltd. as at March 31, 2021 and 2022 are give

below :
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Ujjwala Ltd.

Balance sheets as 31st March

Rs. (Income)

Particulars 2022 2021

I. Equity Liabilities :

1. Shareholder's fund ¼lerk ,oa nkf;Ro½

Share capital ¼va'k iwath½ 11,75,000 11,75,000

Stat. of P/L ¼ykHk&gkfu fooj.k½ 1,02,000 84,000

Gen. Reserve ¼lkekU; lap;½ 4,65,000 4,50,000

2. Non-current liabilities

Provision for Taxation 15,000 1,12,500

¼vk;dj ds fy, vk;kstu½

Mortgage Loan ¼ca/kd _.k½ 4,05,0000 -

3. Current Liabilities : ¼pkyw nkf;Ro½

Trade pyables ¼O;kikfjd ns;½ 2,01,000 2,52,000

Total (1+2+3) 23,63,000 20,73,500

II. Assets ¼laifRr;ka½

1. Non-current Assets : ¼xSj&pkyw laifRr;ka½

a. Fixed Assets ¼LFkkbZ laifRr;ka½ 9,80,000 11,00,000

b. Investment ¼fofu;ksx½ 90,000 75,000

2. Current Assets :

Inventory ¼Lda/k½ 3,15,000 3,60,000

Trade Receivable ¼O;kikfjd -----------------½ 6,82,500 3,15,000

Cash and cash Equivalents 2,95,500 2,23,500

¼jksdM+ ,oa jksdM+ rqY;½

Total (1+2) 23,63,000 20,73,500
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vfrfjDr lwpuk,a %&

1- o"kZ esa :- 12]000 ykxr ds fofu;ksx :- 12]750 esa csp fn;s x;sA

2- o"kZ esa dj vk;kstu :- 13]500 fd;k x;kA

3- o"kZ esa LFkkbZ laifRr;ksa dk ,d Hkkx ftldh ykxr :- 15]000 Fkh] mls :- 19]000

esa csp fn;k x;kA ykHk dh jkf'k ykHk gkfu fooj.k esa lfEefyr dj yh xbZ A

4- o"kZ esa :- 60]000 ykHkka'k ds pqdk;s x;s A

vkidks jksdM+ ds lzksrksa ,oa mi;ksxksa dk fooj.k cukuk gSA

Additional Informations :

1. Investment costing Rs. 12,000 were sold during the year for Rs. 12,750.

2. Provision for Tax made during the year was Rs. 13,500.

3. During the year part of the fixed assets costing Rs. 15,000 were sold for

Rs. 19,000. The profit was included in statement of profit and loss.

4. Divided paid during the year amounted to Rs. 60,000 you are required to

prepare sources and uses of cash.

(iv) X rFkk Y nks vo;o gSa A bu vo;oksa esa ls ,d dks cukus dk vkSj nwljs dks [kjhnus

dk fu.kZ; fy;k tk jgk gS A lkisf{kd fooj.k fuEufyf[kr gS %&

There are two components X and Y. Descision is being taken to manufacture

one of these components and to buy the other. Following are the relative

particulars :

X Y

izR;{k lkexzh (Direct Materials) 12,500 5,000

izR;{k Je (Direct Labour) 7,500 8,750

ifjorZu'khy mifjO;; (Variable Expenses) 5,000 6,250

fLFkj O;; (Fixed Expenses) 12,500 12,500

dqy mRikn bdkbZ esa (Total output units) 600 1,200

[kjhn ewY; izfr bdkbZ (Buying Price p.u.) 75 30

;a= ewY; izfr bdkbZ (Machine time p.u.) 10 06
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lkexzh izfr bdkbZ (Materials p.u.) 250 gm. 50 gm.

viuh jk; nhft;s fd fdls [kjhnk tk;s vkSj fdls fufeZr fd;k tk,] ;fn

1-  dksbZ eq[; dkjd u gks ;k

2-  lkexzh eq[; dkjd gks ;k

3-  e'khu ?k.Vk eq[; dkjd gks ;k

Give your recommendation as which is to be bought and which is to be

manufacture if :

(1) There is no key factor or

(2) Material is key factor or

(3) Machine hour is key factor

(v) M fy-us vkids le{k fuEu O;kikfjd ifj.kke izLrqr fd;s gSa %&

'M' Ltd. has placed before you the following trading results :

Year Sales (Rs.) Profit (Rs.)

2021 1,00,000 5,000

2022 90,000 2,000

Kkr dhft;s & (Find out)

(1) ykHk ek=k vuqikr (P/V Ratio)

(2) fLFkj ykxr (Fixed costs)

(3) lefoPNsn fcanq (B.E.P.)

(4) ;fn fcØh 1]00]000 gks] rks ykHk dh jkf'kA

Amount of profit if the sales is Rs. 1,00,000

(5) fcØh :i;s esa tc bfPNr ykHk 2]500 gksA

Sales in repees when desired profit is Rs. 2500.

(6) :- 5]625 ds ykHk ij lqj{kk lhekA

Margin of safety at a profit of Rs. 5,625.
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(vi) izca/k vads{k.k dh vo/kkj.kk dks le>kb;sA blds mn~ns'; ,oa {ks=ksa dh O;k[;k

dhft;sA

Explain the concept of Management Audit. Discuss its objects and scope.

(vii) izca/k gsrq ,d vPNh fjiksVZ dh izeq[k fo'ks"krk,a D;k gS \ fu;a=.k fjiksVZ rFkk

lwpuk fjiksVZ esa varj crkb;sA

What are the essential characteristics of good report for management ?

Distinguish between "Control Report" and "Information Report".

--00--
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